

PARTIAL SUMS OF CERTAIN ANALYTIC FUNCTIONS

B.A. FRASIN and G. MURUGUSUNDARAMOOTHY

**Abstract.** Let  $f_n(z) = z + \sum_{k=2}^n a_k z^k$  be the sequence of partial sums of the analytic function  $f(z) = z + \sum_{k=2}^{\infty} a_k z^k$ . We determine sharp lower bounds for  $\operatorname{Re} \{f(z)/f_n(z)\}$ ,  $\operatorname{Re} \{f_n(z)/f(z)\}$ ,  $\operatorname{Re} \{f'(z)/f'_n(z)\}$  and  $\operatorname{Re} \{f'_n(z)/f'(z)\}$  under certain conditions.

**MSC 2010.** 34C45.

**Key words.** Analytic, univalent, Hadamard product, Wright generalized hypergeometric functions, partial sum.

1. INTRODUCTION AND PRELIMINARIES

Let  $\mathcal{A}$  denote the class of functions of the form

$$(1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k,$$

which are analytic and univalent in the open disc  $U = \{z : |z| < 1\}$ . For functions  $\Phi, \Psi \in \mathcal{A}$  given by  $\Phi(z) = z + \sum_{k=2}^{\infty} \phi_k z^k$  and  $\Psi(z) = z + \sum_{k=2}^{\infty} \psi_k z^k$ , we define the Hadamard product (or convolution) of  $\Phi$  and  $\Psi$  by

$$(2) \quad (\Phi * \Psi)(z) = z + \sum_{k=2}^{\infty} \phi_k \psi_k z^k, \quad z \in U.$$

For positive real parameters  $\alpha_1, A_1, \dots, \alpha_l, A_l$  and  $\beta_1, B_1, \dots, \beta_m, B_m$ , where  $l, m \in \mathbb{N} = \{1, 2, 3, \dots\}$ , such that

$$(3) \quad 1 + \sum_{k=1}^m B_k - \sum_{k=1}^l A_k \geq 0 \quad z \in U,$$

the Wright generalized hypergeometric function  ${}_l\Psi_m[(\alpha_k, A_k)_{1,l}(\beta_k, B_k)_{1,m}; z]$  [16], which denotes  ${}_l\Psi_m[(\alpha_1, A_1), \dots, (\alpha_l, A_l); (\beta_1, B_1), \dots, (\beta_m, B_m); z]$ , is defined by

$${}_l\Psi_m[(\alpha_t, A_t)_{1,l}(\beta_t, B_t)_{1,m}; z] = \sum_{k=0}^{\infty} \left\{ \prod_{t=0}^l \Gamma(\alpha_t + kA_t) \right\} \left\{ \prod_{t=0}^m \Gamma(\beta_t + kB_t) \right\}^{-1} \frac{z^k}{k!},$$

for  $z \in U$ .

---

The authors would like to thank the referee for the valuable comments and suggestions.

If  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ) we have the relationship:

$$(4) \quad \begin{aligned} \Omega_l \Psi_m[(\alpha_t, 1)_{1,l}(\beta_t, 1)_{1,m}; z] &\equiv {}_lF_m(\alpha_1, \dots, \alpha_l; \beta_1, \dots, \beta_m; z) \\ &= \sum_{k=0}^{\infty} \frac{(\alpha_1)_k \dots (\alpha_l)_k}{(\beta_1)_k \dots (\beta_m)_k} \frac{z^k}{k!} \end{aligned}$$

( $l \leq m + 1$ ;  $l, m \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ ;  $z \in U$ ), which is the generalized hypergeometric function (see for details [16]) where  $\mathbb{N}$  denotes the set of all positive integers and  $(\lambda)_k$  is the Pochhammer symbol and

$$(5) \quad \Omega = \left( \prod_{t=0}^l \Gamma(\alpha_t) \right)^{-1} \left( \prod_{t=0}^m \Gamma(\beta_t) \right).$$

By using the generalized hypergeometric function Dziok and Srivastava [3] introduced a linear operator. In [4] Dziok and Raina extended the linear operator by using Wright generalized hypergeometric function. First we define a function

$${}_l\phi_m[(\alpha_t, A_t)_{1,l}; (\beta_t, B_t)_{1,m}; z] = \Omega z {}_l\Psi_m[(\alpha_t, A_t)_{1,l}(\beta_t, B_t)_{1,m}; z].$$

Let  $\mathcal{W}[(\alpha_t, A_t)_{1,l}; (\beta_t, B_t)_{1,m}] : \mathcal{A} \rightarrow \mathcal{A}$  be a linear operator defined by

$$\mathcal{W}[(\alpha_t, A_t)_{1,l}; (\beta_t, B_t)_{1,m}](f)(z) := z {}_l\phi_m[(\alpha_t, A_t)_{1,l}; (\beta_t, B_t)_{1,m}; z] * f(z).$$

We observe that, for  $f(z)$  of the form (1), we have

$$(6) \quad \mathcal{W}[(\alpha_t, A_t)_{1,l}; (\beta_t, B_t)_{1,m}](f)(z) = z + \sum_{k=2}^{\infty} \Omega \sigma_k(\alpha_1) a_k z^k,$$

where  $\Omega$  is given by (5) and  $\sigma_k(\alpha_1)$  is defined by

$$(7) \quad \sigma_k(\alpha_1) = \frac{\Gamma(\alpha_1 + A_1(k-1)) \dots \Gamma(\alpha_l + A_l(k-1))}{(k-1)! \Gamma(\beta_1 + B_1(k-1)) \dots \Gamma(\beta_m + B_m(k-1))}.$$

For convenience, we write

$$(8) \quad \mathcal{W}_m^l[\alpha_1]f(z) = \mathcal{W}[(\alpha_1, A_1), \dots, (\alpha_l, A_l); (\beta_1, B_1), \dots, (\beta_m, B_m)]f(z)$$

as introduced by Dziok and Raina [4]. In view of the relationship (4) the linear operator (6) includes the Dziok-Srivastava operator (see [3]), so that it includes (as its special cases) various other linear operators introduced and studied by Bernardi [1], Carlson and Shaffer [2], Libera [7], Livingston [8], Ruscheweyh [12] and Srivastava-Owa [15].

For  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$  and  $\eta \geq 0$ , we let  $\mathcal{W}_m^l(\lambda, \gamma, \eta)$  be the subclass of  $\mathcal{A}$  consisting of functions of the form (1) and satisfying the analytic criterion

$$(9) \quad \operatorname{Re} \left\{ \frac{z(\mathcal{W}_m^l[\alpha_1]f(z))'}{(1-\lambda)\mathcal{W}_m^l[\alpha_1]f(z) + \lambda z(\mathcal{W}_m^l[\alpha_1]f(z))'} - \gamma \right\} > \eta \left| \frac{z(\mathcal{W}_m^l[\alpha_1]f(z))'}{(1-\lambda)\mathcal{W}_m^l[\alpha_1]f(z) + \lambda z(\mathcal{W}_m^l[\alpha_1]f(z))'} - 1 \right|, \quad z \in U,$$

where  $\mathcal{W}_m^l[\alpha_1]f(z)$  is given by (6). By suitably specializing the values of  $A_t$ ,  $B_t$ ,  $l$ ,  $m$ ,  $\alpha_1, \alpha_2, \dots, \alpha_l$ ,  $\beta_1, \beta_2, \dots, \beta_m$ ,  $\lambda$ ,  $\gamma$  and  $\eta$ , the class  $\mathcal{W}_m^l(\lambda, \gamma, \eta)$  leads to various new subclasses. As illustrations, we present some examples for the case when  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ).

EXAMPLE 1. If  $l = 2$  and  $m = 1$  with  $\alpha_1 = 1$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$ , then  $\mathcal{W}_1^2(\lambda, \gamma, \eta) \equiv \mathbb{S}(\lambda, \gamma, \eta)$  is the class of functions  $f \in \mathcal{A}$  with the property that  $\operatorname{Re} \left\{ \frac{zf'(z)}{(1-\lambda)f(z) + \lambda zf'(z)} - \gamma \right\} > \eta \left| \frac{zf'(z)}{(1-\lambda)f(z) + \lambda zf'(z)} - 1 \right|$  ( $z \in U$ ).

EXAMPLE 2. If  $l = 2$  and  $m = 1$  with  $\alpha_1 = \delta + 1$  ( $\delta > -1$ ),  $\alpha_2 = 1$ ,  $\beta_1 = 1$ , then  $\mathcal{W}_1^2(\lambda, \gamma, \eta) \equiv R_\delta(\lambda, \gamma, \eta)$  is the class of functions  $f \in \mathcal{A}$  with the property that  $\operatorname{Re} \left\{ \frac{z(D^\delta f(z))'}{(1-\lambda)D^\delta f(z) + \lambda z(D^\delta f(z))'} - \gamma \right\} > \eta \left| \frac{z(D^\delta f(z))'}{(1-\lambda)D^\delta f(z) + \lambda z(D^\delta f(z))'} - 1 \right|$  ( $z \in U$ ), where  $D^\delta$  is called Ruscheweyh derivative of order  $\delta$  ( $\delta > -1$ ) defined by

$$D^\delta f(z) := \frac{z}{(1-z)^{\delta+1}} * f(z) \equiv H_1^2(\delta + 1, 1; 1)f(z).$$

EXAMPLE 3. If  $l = 2$  and  $m = 1$  with  $\alpha_1 = \mu + 1$  ( $\mu > -1$ ),  $\alpha_2 = 1$ ,  $\beta_1 = \mu + 2$ , then  $\mathcal{W}_1^2(\lambda, \gamma, \eta) \equiv B_\mu(\lambda, \gamma, \eta)$  is the class of functions  $f \in \mathcal{A}$  with the property that  $\operatorname{Re} \left( \frac{z(J_\mu f(z))'}{(1-\lambda)J_\mu f(z) + \lambda z(J_\mu f(z))'} - \gamma \right) > \eta \left| \frac{z(J_\mu f(z))'}{(1-\lambda)J_\mu f(z) + \lambda z(J_\mu f(z))'} - 1 \right|$  ( $z \in U$ ), where  $J_\mu$  is a Bernardi operator [1] defined by

$$J_\mu f(z) := \frac{\mu + 1}{z^\mu} \int_0^z t^{\mu-1} f(t) dt \equiv H_1^2(\mu + 1, 1; \mu + 2)f(z).$$

Note that the operator  $J_1$  was studied earlier by Libera [7] and Livingston [8].

EXAMPLE 4. If  $l = 2$  and  $m = 1$  with  $\alpha_1 = a$  ( $a > 0$ ),  $\alpha_2 = 1$ ,  $\beta_1 = c$  ( $c > 0$ ), then  $\mathcal{W}_1^2(\lambda, \gamma, \eta) \equiv L_c^a(\lambda, \gamma, \eta)$  is the class of functions  $f \in \mathcal{A}$  with the property  $\operatorname{Re} \left( \frac{z(L(a,c)f(z))'}{(1-\lambda)L(a,c)f(z) + \lambda z(L(a,c)f(z))'} - \gamma \right) > \eta \left| \frac{z(L(a,c)f(z))'}{(1-\lambda)L(a,c)f(z) + \lambda z(L(a,c)f(z))'} - 1 \right|$  ( $z \in U$ ), where  $L(a, c)$  is the Carlson-Shaffer linear operator [2] defined by

$$L(a, c)f(z) := \left( \sum_{k=0}^{\infty} \frac{\binom{a}{k}}{\binom{c}{k}} z^{k+1} \right) * f(z) \equiv H_1^2(a, 1; c)f(z).$$

The class  $\mathcal{W}_m^l(\lambda, \gamma, \eta)$  was introduced and studied by Murugusundaramoorthy and Magesh [9], and they obtained the following sufficient condition for a function  $f(z)$  of the form (1) to be in this class.

LEMMA 5 ([9]). A function  $f(z)$  of the form (1) is in  $\mathcal{W}_m^l(\lambda, \gamma, \eta)$  if

$$(10) \quad \sum_{k=2}^{\infty} \rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1) |a_k| \leq 1 - \gamma,$$

where  $\rho_k(\lambda, \gamma, \eta) := k(1 + \eta) - (\gamma + \eta)(1 + k\lambda - \lambda)$ ,  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$ ,  $\eta \geq 0$  and  $\Omega$ ,  $\sigma_k(\alpha_1)$  are given by (5) and (7).

If  $A_t = 1$  ( $t = 1, 2, \dots, l$ ),  $B_t = 1$  ( $t = 1, 2, \dots, m$ ), and in the view of Examples 1 to 4, we state the following sufficient conditions (see [9]). A function  $f(z)$  of the form (1) is in  $\mathcal{S}(\lambda, \gamma, \eta)$  if

$$(11) \quad \sum_{k=2}^{\infty} \rho_k(\lambda, \gamma, \eta) |a_k| \leq 1 - \gamma,$$

where  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$  and  $\eta \geq 0$ . A function  $f(z)$  of the form (1) is in  $R_\delta(\lambda, \gamma, \eta)$  if

$$(12) \quad \sum_{k=2}^{\infty} \rho_k(\lambda, \gamma, \eta) \frac{(\delta + 1) \dots (\delta + k - 1)}{(k - 1)!} |a_k| \leq 1 - \gamma,$$

where  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$ ,  $\eta \geq 0$  and  $\delta > -1$ . A function  $f(z)$  of the form (1) is in  $B_\mu(\lambda, \gamma, \eta)$  if

$$(13) \quad \sum_{k=2}^{\infty} \rho_k(\lambda, \gamma, \eta) \left( \frac{\mu + 1}{\mu + k} \right) |a_k| \leq 1 - \gamma,$$

where  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$ ,  $\eta \geq 0$  and  $\mu > -1$ . A function  $f(z)$  of the form (1) is in  $L_c^a(\lambda, \gamma, \eta)$  if

$$(14) \quad \sum_{k=2}^{\infty} \rho_k(\lambda, \gamma, \eta) \frac{(a)_{k-1}}{(c)_{k-1}} |a_k| \leq 1 - \gamma,$$

where  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$ ,  $\eta \geq 0$  and  $a > 0$ ,  $c > 0$ .

Recently, Silverman [11] determined sharp lower bounds on the real part of the quotients between the normalized starlike or convex functions and their sequences of partial sums. In the present paper, and by following the earlier work by Silverman [11] (see [5], [6], [10], [13], [14]) on partial sums of analytic functions, we study the ratio of a function of the form (1) to its sequence of partial sums of the form  $f_n(z) = z + \sum_{k=2}^n a_k z^k$  when the coefficients of  $f(z)$  satisfy the condition (10). Also, we will determine sharp lower bounds for  $\operatorname{Re} \{f(z)/f_n(z)\}$ ,  $\operatorname{Re} \{f_n(z)/f(z)\}$ ,  $\operatorname{Re} \{f'(z)/f'_n(z)\}$  and  $\operatorname{Re} \{f'_n(z)/f'(z)\}$ . It is seen that this study not only gives as a particular case, the results of Silverman [11], but also gives rise to several new results.

## 2. MAIN RESULTS

THEOREM 6. If  $f(z)$  of the form (1) satisfies condition (10), then

$$(15) \quad \operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) - 1 + \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} \quad (z \in U),$$

where

$$(16) \quad \rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1) \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n \\ \rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1), & k = n + 1, n + 2, \dots \end{cases}$$

The result (15) is sharp with the function given by

$$(17) \quad f(z) = z + \frac{1 - \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} z^{n+1}.$$

*Proof.* Define the function  $w(z)$  by

$$(18) \quad \begin{aligned} \frac{1 + w(z)}{1 - w(z)} &= \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \\ &\cdot \left[ \frac{f(z)}{f_n(z)} - \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) - 1 + \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} \right] \\ &= \frac{1 + \sum_{k=2}^n a_k z^{k-1} + \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} a_k z^{k-1}}{1 + \sum_{k=2}^n a_k z^{k-1}}. \end{aligned}$$

It suffices to show that  $|w(z)| \leq 1$ . Now, from (18) we can write

$$w(z) = \frac{\left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} a_k z^{k-1}}{2 + 2 \sum_{k=2}^n a_k z^{k-1} + \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} a_k z^{k-1}}.$$

Hence we obtain

$$|w(z)| \leq \frac{\left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^n |a_k| - \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} |a_k|}.$$

Now  $|w(z)| \leq 1$  if

$$2 \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} |a_k| \leq 2 - 2 \sum_{k=2}^n |a_k|$$

or, equivalently,

$$\sum_{k=2}^n |a_k| + \sum_{k=n+1}^{\infty} \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} |a_k| \leq 1.$$

From condition (10), it is sufficient to show that

$$\sum_{k=2}^n |a_k| + \sum_{k=n+1}^{\infty} \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} |a_k| \leq \sum_{k=2}^{\infty} \frac{\rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1)}{1 - \gamma} |a_k|,$$

which is equivalent to

$$(19) \quad \sum_{k=2}^n \left( \frac{\rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1) - 1 + \gamma}{1 - \gamma} \right) |a_k| + \sum_{k=n+1}^{\infty} \left( \frac{\rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1) - \rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) |a_k| \geq 0.$$

From condition (10), we obtain (19). To see that the function given by (17) gives the sharp result, we observe that for  $z = re^{i\pi/n}$  we have

$$\begin{aligned} \frac{f(z)}{f_n(z)} &= 1 + \frac{1 - \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} z^n \rightarrow 1 - \frac{1 - \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} \\ &= \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) - 1 + \gamma}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)} \end{aligned}$$

when  $r \rightarrow 1^-$ . □

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 1$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 6, we obtain the following result given by Silverman in [11, Theorem 1, p. 222].

**COROLLARY 7.** *If  $f(z)$  of the form (1) satisfies the condition*

$$(20) \quad \sum_{k=2}^{\infty} (k - \gamma) |a_k| \leq 1 - \gamma,$$

then  $\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{n}{n+1-\gamma}$  ( $z \in U$ ). The result is sharp with the function

$$(21) \quad f(z) = z + \frac{1 - \gamma}{n + 1 - \gamma} z^{n+1}.$$

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 2$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 6, we obtain the following result given by Silverman [11, Theorem 2, p. 224].

**COROLLARY 8.** *If  $f(z)$  of the form (1) satisfies the condition*

$$(22) \quad \sum_{k=2}^{\infty} k(k - \gamma) |a_k| \leq 1 - \gamma,$$

then  $\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{n(n+2-\gamma)}{(n+1)(n+1-\gamma)}$  ( $z \in U$ ). The result is sharp with the function

$$(23) \quad f(z) = z + \frac{1 - \gamma}{(n + 1)(n + 1 - \gamma)} z^{n+1}.$$

We next determine bounds for  $f_n(z)/f(z)$ .

**THEOREM 9.** *If  $f(z)$  of the form (1) satisfies condition (10), then*

$$(24) \quad \operatorname{Re} \left\{ \frac{f_n(z)}{f(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) + 1 - \gamma} \quad (z \in U),$$

where

$$(25) \quad \rho_k(\lambda, \gamma, \eta) \Omega \sigma_k(\alpha_1) \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n, n+1 \\ \rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1), & k = n+1, n+2, \dots \end{cases}$$

The result (24) is sharp with the function given by (17).

*Proof.* Define the function  $w(z)$  by

$$\begin{aligned} \frac{1+w(z)}{1-w(z)} &= \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) + 1 - \gamma}{1 - \gamma} \\ &\quad \cdot \left[ \frac{f_n(z)}{f(z)} - \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) + 1 - \gamma} \right] \\ &= \frac{1 + \sum_{k=2}^n a_k z^{k-1} - \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} a_k z^{k-1}}{1 + \sum_{k=2}^{\infty} a_k z^{k-1}}. \end{aligned}$$

Then  $|w(z)| < 1$  if

$$|w(z)| \leq \frac{\left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) + 1 - \gamma}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} |a_k|}{2 - 2 \sum_{k=2}^n |a_k| - \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1) - 1 + \gamma}{1 - \gamma} \right) \sum_{k=n+1}^{\infty} |a_k|} \leq 1.$$

This is equivalent to  $\sum_{k=2}^n |a_k| + \sum_{k=n+1}^{\infty} \frac{\rho_{n+1}(\lambda, \gamma, \eta) \Omega \sigma_{n+1}(\alpha_1)}{1 - \gamma} |a_k| \leq 1$ . Making use of (10) and (24), we get (19). Finally, equality in (24) holds for the extremal function  $f(z)$  given by (17).  $\square$

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 1$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 9, we obtain the following result given by Silverman [11, Theorem 3 (a), p. 225].

**COROLLARY 10.** *If  $f(z)$  of the form (1) satisfies condition (20), then one has  $\operatorname{Re} \left\{ \frac{f_n(z)}{f(z)} \right\} \geq \frac{n+1-\gamma}{n+2-2\gamma}$  ( $z \in U$ ). The result is sharp with the function given by (21).*

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 2$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 9, we obtain the following result given by Silverman [11, Theorem 3 (b), p. 225].

COROLLARY 11. If  $f(z)$  of the form (1) satisfies condition (22), then one has  $\operatorname{Re} \left\{ \frac{f_n(z)}{f(z)} \right\} \geq \frac{(n+1)(n+1-\gamma)}{(n+1)[(n+1)-\gamma]+1-\gamma}$  ( $z \in U$ ). The results are sharp with the function given by (23).

We next turn to ratios involving derivatives.

THEOREM 12. If  $f(z)$  of the form (1) satisfies condition (10), then

$$(26) \quad \operatorname{Re} \left\{ \frac{f'(z)}{f'_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1) - (n+1)(1-\gamma)}{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)} \quad (z \in U)$$

and

$$(27) \quad \operatorname{Re} \left\{ \frac{f'_n(z)}{f'(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1) + (n+1)(1-\gamma)} \quad (z \in U),$$

where

$$(28) \quad \rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1) \geq \begin{cases} k(1-\gamma), & k = 2, 3, \dots, n, n+1 \\ k \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)} \right), & k = n+1, n+2, \dots \end{cases}$$

The results are sharp with the function given by (17).

*Proof.* We write

$$\frac{1+w(z)}{1-w(z)} = \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} \cdot \left[ \frac{f'(z)}{f'_n(z)} - \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1) - (n+1)(1-\gamma)}{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)} \right) \right],$$

where

$$w(z) = \frac{\left( \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} \right) \sum_{k=n+1}^{\infty} k a_k z^{k-1}}{2 + 2 \sum_{k=2}^n k a_k z^{k-1} + \left( \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} \right) \sum_{k=n+1}^{\infty} k a_k z^{k-1}}.$$

Now  $|w(z)| \leq 1$  if  $\sum_{k=2}^n k |a_k| + \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} \sum_{k=n+1}^{\infty} k |a_k| \leq 1$ . From condition (10), it is sufficient to show that

$$\sum_{k=2}^n k |a_k| + \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} \sum_{k=n+1}^{\infty} k |a_k| \leq \sum_{k=2}^{\infty} \frac{\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1)}{1-\gamma} |a_k|,$$

which is equivalent to

$$\sum_{k=2}^n \left( \frac{\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1) - (1-\gamma)k}{1-\gamma} \right) |a_k| + \sum_{k=n+1}^{\infty} \frac{(n+1)\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1) - k\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)} |a_k| \geq 0.$$



Since this condition holds from (28), we obtain (26). To prove the result (27), define the function  $w(z)$  by

$$\frac{1+w(z)}{1-w(z)} = \frac{(n+1)(1-\gamma) + \rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(1-\gamma)(n+1)} \cdot \left[ \frac{f'_n(z)}{f'(z)} - \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma) + \rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)} \right].$$

Then

$$w(z) = \frac{-\left(1 + \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)}\right) \sum_{k=n+1}^{\infty} ka_k z^{k-1}}{2 + 2 \sum_{k=2}^n ka_k z^{k-1} + \left(1 - \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)}\right) \sum_{k=n+1}^{\infty} ka_k z^{k-1}}.$$

Now  $|w(z)| \leq 1$  if

$$(29) \quad \sum_{k=2}^n k|a_k| + \left(\frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)}\right) \sum_{k=n+1}^{\infty} k|a_k| \leq 1.$$

It suffices to show that the left hand side of (29) is bounded above by the condition  $\sum_{k=2}^{\infty} [\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1)/(1-\gamma)]|a_k|$ , which is equivalent to

$$\sum_{k=2}^n \left(\frac{\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1)}{1-\gamma} - k\right) |a_k| + \sum_{k=n+1}^{\infty} \left(\frac{\rho_k(\lambda, \gamma, \eta)\Omega\sigma_k(\alpha_1)}{1-\gamma} - \frac{\rho_{n+1}(\lambda, \gamma, \eta)\Omega\sigma_{n+1}(\alpha_1)}{(n+1)(1-\gamma)}k\right) |a_k| \geq 0.$$

Since this condition holds from (28), we obtain (27).  $\square$

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 1$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 12, we obtain the following result given by Silverman [11, Theorem 4, p. 226].

**COROLLARY 13.** *If  $f(z)$  of the form (1) satisfies condition (20), then one has  $\operatorname{Re} \left\{ \frac{f'(z)}{f'_n(z)} \right\} \geq \frac{n\gamma}{n+1-\gamma}$  ( $z \in U$ ) and  $\operatorname{Re} \left\{ \frac{f'_n(z)}{f'(z)} \right\} \geq \frac{n+1-\gamma}{(n+1)(2-\gamma)-\gamma}$  ( $z \in U$ ). The results are sharp with the function given by (21).*

Taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ) and  $B_t = 1$  ( $t = 1, 2, \dots, m$ ),  $l = 2$  and  $m = 1$  with  $\alpha_1 = 2$ ,  $\alpha_2 = 1$ ,  $\beta_1 = 1$  and  $\lambda = \eta = 0$  in Theorem 12, we obtain the following result given by Silverman [11, Theorem 5, p. 227].

**COROLLARY 14.** *If  $f(z)$  of the form (1) satisfies condition (22), then one has  $\operatorname{Re} \left\{ \frac{f'(z)}{f'_n(z)} \right\} \geq \frac{n}{n+1-\gamma}$  ( $z \in U$ ) and  $\operatorname{Re} \left\{ \frac{f'_n(z)}{f'(z)} \right\} \geq \frac{n+1-\gamma}{n+2-2\gamma}$  ( $z \in U$ ). The results are sharp with the function given by (23).*

REMARK 15. As special cases of the above theorems, we can determine new sharp lower bounds for  $\operatorname{Re} \{f(z)/f_n(z)\}$ ,  $\operatorname{Re} \{f_n(z)/f(z)\}$ ,  $\operatorname{Re} \{f'(z)/f'_n(z)\}$  and  $\operatorname{Re} \left\{ \frac{f'_n(z)}{f'(z)} \right\}$  if  $f(z)$  satisfies the conditions (11)-(14) by taking  $A_t = 1$  ( $t = 1, 2, \dots, l$ ),  $B_t = 1$  ( $t = 1, 2, \dots, m$ ) and by suitably specializing the values of  $l, m, \alpha_1, \alpha_2$  and  $\beta_1$ .

As special cases of Theorem 6, we obtain the following corollaries.

COROLLARY 16. *If  $f(z)$  of the form (1) satisfies condition (11), then*

$$\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta) - 1 + \gamma}{\rho_{n+1}(\lambda, \gamma, \eta)} \quad (z \in U),$$

where

$$\rho_k(\lambda, \gamma, \eta) \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n \\ \rho_{n+1}(\lambda, \gamma, \eta), & k = n + 1, n + 2, \dots \end{cases}$$

and  $0 \leq \lambda < 1, 0 \leq \gamma < 1, \eta \geq 0$ . The result is sharp with the function

$$f(z) = z + \frac{1 - \gamma}{\rho_{n+1}(\lambda, \gamma, \eta)} z^{n+1}.$$

COROLLARY 17. *If  $f(z)$  of the form (1) satisfies condition (12), then*

$$\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta)(\delta + 1) \dots (\delta + n) - (1 - \gamma)(n)!}{\rho_{n+1}(\lambda, \gamma, \eta)(\delta + 1) \dots (\delta + n)} \quad (z \in U),$$

where

$$\rho_k(\lambda, \gamma, \eta) \frac{(\delta + 1) \dots (\delta + k - 1)}{(k - 1)!} \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n \\ \rho_{n+1}(\lambda, \gamma, \eta) \frac{(\delta + 1) \dots (\delta + n)}{(n)!}, & k = n + 1, n + 2, \dots \end{cases}$$

and  $0 \leq \lambda < 1, 0 \leq \gamma < 1, \eta \geq 0, \delta > -1$ . The result is sharp with the function

$$f(z) = z + \frac{(1 - \gamma)(n)!}{\rho_{n+1}(\lambda, \gamma, \eta)(\delta + 1) \dots (\delta + n)} z^{n+1}.$$

COROLLARY 18. *If  $f(z)$  of the form (1) satisfies condition (13), then*

$$\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta)(\mu + 1) - (1 - \gamma)(\mu + n + 1)}{\rho_{n+1}(\lambda, \gamma, \eta)(\mu + 1)} \quad (z \in U),$$

where

$$\rho_k(\lambda, \gamma, \eta) \left( \frac{\mu + 1}{\mu + k} \right) \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n \\ \rho_{n+1}(\lambda, \gamma, \eta) \left( \frac{\mu + 1}{\mu + n + 1} \right), & k = n + 1, n + 2, \dots \end{cases}$$

and  $0 \leq \lambda < 1, 0 \leq \gamma < 1, \eta \geq 0, \mu > -1$ . The result is sharp with the function

$$f(z) = z + \frac{(1 - \gamma)(\mu + n + 1)}{\rho_{n+1}(\lambda, \gamma, \eta)(\mu + 1)} z^{n+1}.$$

COROLLARY 19. *If  $f(z)$  of the form (1) satisfies condition (14), then*

$$\operatorname{Re} \left\{ \frac{f(z)}{f_n(z)} \right\} \geq \frac{\rho_{n+1}(\lambda, \gamma, \eta)(a)_n - (1 - \gamma)(c)_n}{\rho_{n+1}(\lambda, \gamma, \eta)(a)_n} \quad (z \in U),$$

where

$$\rho_k(\lambda, \gamma, \eta) \frac{(a)_{k-1}}{(c)_{k-1}} \geq \begin{cases} 1 - \gamma, & k = 2, 3, \dots, n \\ \rho_{n+1}(\lambda, \gamma, \eta) \frac{(a)_n}{(c)_n}, & k = n + 1, n + 2, \dots \end{cases}$$

and  $0 \leq \lambda < 1$ ,  $0 \leq \gamma < 1$ ,  $\eta \geq 0$ ,  $a > 0$ ,  $c > 0$ . The result is sharp with the function

$$f(z) = z + \frac{(1 - \gamma)(c)_n}{\rho_{n+1}(\lambda, \gamma, \eta)(a)_n} z^{n+1}.$$

#### REFERENCES

- [1] BERNARDI, S.D., *Convex and starlike univalent functions*, Trans. Amer. Math. Soc., **135** (1969), 429–446.
- [2] CARLSON, B.C. and SHAFFER, S.B., *Starlike and prestarlike hypergeometric functions*, SIAM J. Math. Anal., **15** (1984), 737–745.
- [3] DZIOK, J. and SRIVASTAVA, H.M., *Certain subclasses of analytic functions associated with the generalized hypergeometric function*, Integral Transforms Spec. Funct., **14** (2003), 7–18.
- [4] DZIOK, J. and RAINA, R.K., *Families of analytic functions associated with the Wright generalized hypergeometric function*, Demonstratio Math., **37** (2004), 533–542.
- [5] FRASIN, B.A., *Partial sums of certain analytic and univalent functions*, Acta Math. Acad. Paedagog. Nyházi., **21** (2005), 135–145.
- [6] FRASIN, B.A., *Generalization of partial sums of certain analytic and univalent functions*, Appl. Math. Letters, **21** (2008), 735–741.
- [7] LIBERA, R.J., *Some classes of regular univalent functions*, Proc. Amer. Math. Soc., **16** (1965), 755–758.
- [8] LIVINGSTON, A.E., *On the radius of univalence of certain analytic functions*, Proc. Amer. Math. Soc., **17** (1966), 352–357.
- [9] MURUGUSUNDARAMOOTHY, G. and MAGESH, N., *On certain subclasses of analytic functions defined by Wright generalized hypergeometric functions*, Lobachevskii J. Math., **30** (2009), 57–66.
- [10] ROSY, T., SUBURAMANIAN, K.G. and MURUGUSUNDARAMOOTHY, G., *Neighborhoods and partial sums of starlike based on Ruscheweyh derivatives*, J. Ineq. Pure Appl. Math., **4** (2003), Article 64, 1–8.
- [11] SILVERMAN, H., *Partial sums of starlike and convex functions*, J. Math. Anal. Appl., **209** (1997), 221–227.
- [12] RUSCHEWEYH, S., *New criteria for univalent functions*, Proc. Amer. Math. Soc., **49** (1975), 109–115.
- [13] SHEIL-SMALL, T., *A note on partial sums of convex schlicht functions*, Bull. London Math. Soc., **2** (1970), 165–168.
- [14] SILVIA, E.M., *On partial sums of convex functions of order  $\alpha$* , Houston J. Math., **11** (1985), 397–404.
- [15] SRIVASTAVA, H.M. and OWA, S., *Some characterization and distortion theorems involving fractional calculus, generalized hypergeometric functions, Hadamard products, linear operators and certain subclasses of analytic functions*, Nagoya Math. J., **106** (1987), 1–28.

- [16] WRIGHT, E.M., *The asymptotic expansion of the generalized hypergeometric function*, Proc. London. Math. Soc., **46** (1946), 389–408.

Received November 17, 2009

Accepted April 22, 2010

*Al al-Bayt University*  
*Faculty of Science*  
*Department of Mathematics*  
*P.O. Box 130095 Mafrq, Jordan*  
*E-mail: bafrasin@yahoo.com*

*VIT University*  
*School of Science and Humanities*  
*Vellore 632014, India*  
*E-mail: gsmoorthy@yahoo.com*